
4.4 Graphs, (1,a)ot logarithme.-
* Famous Porkts for

(00)
_ log a(x))

( a, 1) y = loga (X)

(1,0)

(à, -1)

graph f(x)= log, (x)

(3,1) ? 10g, (x)

???
(10)

(31-1)

5 x 1 0 5 x 0 0 5 1

R

asymptote: x=0 line



EX Sketch g(x) = 109, (X-1) Last the 3 paint arguebe

y = log, (x-1)

(3,1) logs x1 log, (x-1)

5(2,0)) (4,1)
+(5-1))

@ Domain Who graph...

basic dogarithm isThe argrements of amy way pos and hon-zero.
such that i t  is

EX what is the domach: f(x)-log a (12-3x) - 3

weneed 12-3x>0 so solve this for x;

- 3 × 7 - 1 2 1 ÷ - 3
x<-12

- 3
x<4, D: {81x<45

BTW : w h e n  l o g a  ( 1 )  = 0 5 0  1 2 - 3 x = 1
- 3x=-11

x=43



ExSketch f(x) = log, (12-3x) - 3

? root  : 0 = log, (12-3x) -3

3 = log, (12-3x)

2 '=12-32
8=12-3x
3x=12-8
x = 4/31

? asymptote : x = 4

?  Y - i n t :  x = 0 ? f(a) = log, (12-3:0) -3

?  Y a t = l o g e ( 1 2 )  -  3
=3.585-3
=0 .59  =0 .6

? @ x = 1 / 3  l o g  ( 1 )  - 3 ( * 7 3 )

(0,0.6)

(*10)

( 3

( " , - 3 )



@Soling Equations w/ equiv. problem

EX So lve  fo r  X !

clog (2x-3) +2'= - 10g (24-3) +5

f (x) 5(x)
Desmos: (12.31139, 3,5)

analytical sola:

+log (2x-3) +log (2x-3) =5-2

2 log (2x-3) = 3

log (2x-3) =3/2

EProhi 10%=2x-3

103+3=2x
108/2+3

x

x = 1 0 " 5 +3 1.5 2rd) 10*
2

x = 3 1 . 6 2 + 3

x  =  17 .31)



E x l  S o l v e  f o r  x

In  (x-2)  = + ln  (X+1)

X - 2  = * + 1 mathspeak fa
"Contradiction"

- 2 = * So No Solut in

These graph  do  no t  i n te rsec t !

EX Solve graphically (numerical answer)

I (x-2) = -h(X+1)

Desmos:

(2.30278,-1.19476)

a n s : x =  2 . 3 0 3 1


